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QUESTION 1

Given the following output, which of the following have you likely configured?

[admindarista ~]% tcpdump -i mirror0

tocpduomp: WABNING: mirror0: no IPvd address assigned

tocpdump: verbose outpat suppressed, use —v or —vv fcr full protocecl decode

listening on mirrorl, link-type EN1OME (Ethernet), capture size 65535 bytes
18:27:58.3158059 00:1c:T73:1e:d5:82 (oui Arista Networks) > 00:1c:73:le:ad:le (oul Arista
Networks), ethertype 8302.1Q0 (0x8100), length 15&: vian 100, p 0, ethertype IPwvi,
truncated-ip — 1362 bytes missing! 1¢.10.100.100 > 10.10.100.2: ICMP echo reply, id
4809, seg 4, length 1480

A. Advanced Mirroring with Packet Truncation
B. Advanced Mirroring with ACLs

C. Agile Ports

D. Buffer Tuning

Correct Answer: A

QUESTION 2

What is required in order for Multi-Switch CLI to be implemented?
A. One or more Arista products with management xmpp enabled.

B. an XMPP-based server such as EJabberd

C. an instant messaging client such as Admium or Trillian

D. an SSD drive to the extensive logging produced by this feature.

Correct Answer: B

QUESTION 3

How many Virtual Network Identifiers are supported by the VXLAN specification?
A. 4096

B. 4094

C. 16,777,216

D. 16,000,000

Correct Answer: C
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QUESTION 4

Which password setting controls the Privilege Exec mode on an Arista switch?
A. boot password

B. enable secret

C. management secret

D. enable

Correct Answer: B

QUESTION 5

Why is FastCli faster than CIi?

A. FastCli utilizes an always-running agent to process the submitted command and return the output.
B. FastCli is not faster than Cli, though the name might suggest otherwise.

C. FastCli is written in C++ while Cli is written in Perl.

D. FastCli uses special engrams from the M5.

Correct Answer: A
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